YL
[T T i
—a 3
—_F: Tapnepob

- 2,6

—— [ 3
2 h=0 —] 4 h=0
2 7
7 (AvAa //_u—l_‘—# AAAAAAA
; _LI—I_I—I_| 3 . A - *
>
A 3150 3 000 .
% — /.
7 7
% M 7
7 7
% .
/. CnanbHs Cranns 7
7 124 ans 7
’ @ 2 %
[/ Q 3 :/:
2 ” . 7
7 .
=N /. p |
7 .
2 /5
% /.
1° e
/. 7
% 2
Z A
v %
g 7
7 /.
2 7
Z 7
7 7
7 7
7 %
Z 7
2 7
2 7
2 o
/. A
7
7
v

3050 K
4’ o I
8 3000 (fr
= Kopugop =
% ,Y 5 @ 5 Calgaysaon
g =l 2480
& —
o == x ’ﬂ
<N 2210 = / r |
)= cay j MmES
; 2 ==
75 Pg_| 1150 =|l I'< 3150 S
7 2% @ @ 8 =
ool - e
i ==
H——— ) ==
- . NIES
3150 i
3 o 246 :
o / \ . A
N N 3 | P ‘
; &
r"“’\""" CnanbHs |
5 460 i 2, A
2 460 e | 3000 3 A
S R ‘
" 2080 : - |
[0S0 SN
a 8 ?
A ‘ - 7
i & | v
A S — . 4 _”—'_'—'T&
‘;/ - - ; i‘IXXX XX XXXXH/ XXX X XXX XXX XK XX
i = .y>< ho == e h=0 = Tﬁf
] N

= tbanHa TayH

3L ‘ 96,2 M?

Ho_mep HanmeHyBaHHs Mnowa
NPUMILLLEEHHSA M2
1.1 Kopugop 6,3
1.2 Kopugop 3,4
2 KyxHs-BiTanbHA 24.6
3.1 CaHnBy3son 5,5
3.2 CanByson 4,1
4.1 CnanbHs 12,4
4.2 CnanbHs 11,8
4.3 CnanbHsa 13,6
5.1 Mapoepob 6,2
5.2 Mapaepob 2,6
5.3 Komopa 2,6
54 Jlopxxisa (3ackneHa) 3,1
3aranbHa nnowa 96,2 m?
Xutnosa nnowa 37,8




